G OBI Intelligent Designs 2000 Corp.

RACKS Denver, Colorado 80211

wuw. GOBIRACKS.com
GEHUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

Cuidelines:

When using Load Carriers and Accessories, the user must understand the precautions. The points listed helow
will agsist wou i using the rack foarrier system and will encourage safety.

# For quality fits and safty, use only the recommended rack or accessory. Do not assume an accessory will fit,
always check with dealer when obtaining new accessories. Use only approved accessories on load catriers.
Uzing other brands will woid your watrenty.

¢ Mlake sure all knobs, bolts, screws, straps, and locks are firmdy attached, tishtened and locked before every trip.
Enobz, bolts, screws, straps, and locks must be pertodically inspected for signs of weat, corrosion, and fatigue.
Check your load at stops during the trip to insure continued fasterming securty.

# Checklocal and state laws governing projection of objects beyound the width of a vehicle. Be aware of the
widih and height of your cargo since low clearance branches, bridges, and parking garages can affect the load
A1l cargo will affect the welicle's ditving behavior. Hever dive with any lock, know, or rack in an open ot
unlocked posttion.  Alllong loads such as, but not linated to sallboards, suthoards, kayaks, canoes, and
lumber rnast be Hed down front and rear to the bumpers or tow hooks, of the welicle.

# Bemove yout rack accessories when they are not in use, before inteting car washes, prior to talang in your
vehicle for service, and whenever clearance may be an 1ssue.

¢ Alllocks must be turned and moved periodically to insure smmooth operation. Use graphite or simnilar diy
labricant to help this. Locks are designed to deter vandalism and theft. Eemowve valuable gear if wouwr
vehicle is unattended for an extended period. Place at least onie key in the glove compartment.

# For safety to your wehicle and rack system, obey all posted speed limmits and traffic cautions. Adapt your
speed to the conditions of the road and the load being carned.

* Do not use load carniers and accessones for purposes other than those for whach they were designed. Do not
exceed their carrying capacity.

« Consult with your dealer if you have any questions regarding the operations and hrats of this product.
Eeview all mnstnactions carefially.

Installation Instructions for GOEI TOVOTA FIFULL SIZERACK |  rarawo. OTFIFGR SHEET ] OF §




GOBI

RALKS

GENUINE ACCESSORIES

IntelliFent Designe 2000 Coxp.
Denver, Colorado 80211
wuw. GOBIRACKS.com

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS 6

Included m kit
Letter Description Location Quantity
A GOBI TOVOTA FJ FULL 3IZE ROOF RACK Main bex 1
B FAIRINGRUEEER FROTECTIVE ZTRIF pre-assembled 1
[ FAIRIMG banded to rack 1
D FAIRING BERACKETS (pre-assembled to fairing) pre-asserbled 3
FAIRING BRACKET HARDWARD
CONTENTS: 3- 1/4-20x1 black zine button bolt
BAG #2
E 6- 1/4" black washer P 1
3- 14" lock washer
3- 1420 wing ot
F GOBI CENTER SUPPORT BRACKETS Hardware Box 2
Fa GOBI FRONT ANDREAR SUPPORT BARCKETS Hardwrare Box 4
GOBI ROOF MOUNT BEACKET HARDWARE
CONTENTS:  6- Cover plates black powder coated
; 12- 1/4" Nvylon spacer washers BAC #3
G 12 M8 x 40 Mounting bolts Hardware Box 1
12- 5/16" Stainless lock washers
12- 316" Stainless washers
1- M-5 M etric allen wretich
GOBI RACK ERACEET HARDWARE
CONTENTS: 120 3/8" - 16 % 1" Stainless holt
BAG #4
H 24 3/a" Btanless washer Harirasi B 1
12-3/a" Nylock nuts
- Rubber pads black

BAG#2 BAGH#3I BAG#H4

Installation Instructions for GOEBI TOVOTA FI FULL SIFE BACK rerryo. GTFJFER SHEET 2 OF §




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

The rach pust be ingpected before each ise fo malte corfan affaclmerts are secire, and for avidence of
e, Isuse of the rackor falire fo cbserve the mappfachorar s insirucfions as fo sfallafion proper
Affaclmnedtt and mayterrare will void a1y werraties fhvd may be implied by law

IMETALLATION INSTEUCTIONS:

1- TTsing the hardwarelist on page 2 of the Gohi instraction marmal checls and e fy that all tardware 1s present
prorto installation.

4- Fefertopaged Fig. 1 push on access cover plate “A” in the direction of the atrows while lifting the access
cover plate wath a small sorewndnver. Removeall 6 cover plates in the same manner.

3- Fefertopaged Fig. 2 removeall 12 bolts“B” leaving belund water proofwashers “C7 owver each steel
hracket.

4- Refer to page 4 Fig 3 place | nylon spacer “D™ over each water proof washer “C” then place cover plate
“E7 ower spacers “L7.

5- Fefertopaged Fig. 4 there are 2 zets of Gobi support brackets, 2 are labeled #8 “F° (center suppart brackets)
and 4 are labeled # “Fa” { front and rear support brackets).  As shown onpage 4 Fig, 3 and 4 usethe IVE =
40 metnic bolts found in hardware bag #5 and slide each IWIE 2 40 holt labeled #0 wath locl washer and fat
washer first through Gob support bracket labeled # “Fa” for the rear of the velicle then through cover plate
“E7 through spacers“D” and finally into vehicle roof bracket and mounting holes,  Cortinue installing each
(Gobi support tracket to their cotrect positions on the wehicle moof based on thetr mumber desi onation (#Fa
front and rear brackets) and (#6F center brackets) assermbleand tighten all 12 bolts through all 6 Gobi support
hrackets in the satme marmer.

- laing at least two people, carefully place the Gol roof rack #1 1 in posttion on top of all 6 Golt support
hrackets #0 as shovn onpage 4 Fig. 4. Install all 6 mibber pads #10 located 1n bag # between the Goh roof
rack: welded in brackets #1 la and the Gobi support bradoets #6 as shown on page 4 Fig. 4. Using the 3/8-16
1" baltslocated in bag #4 along wath the 3/67 flat washers install all 12 bolts and washers labeled #12 through
the Gobi welded in brackets #1 la then through Gobi support brackets #5. Thread all twelwe 3/87 Nylock
mits and washers located in bag #4 to each bolt az shown on page 4 Fig. 4 labeled #1 2 then align each Gaobi
support braclet #6 to the roof rack and vehicle as shown on page 5 Fig. 5 labeled “H'.  Once bracket
aligrment 15 cotrplete fially tighten the Gotd mclc #11 to each Gobi support bracket #5 then completely tighten
all Gobi support brackets #5 to wehicle rooftop as shovm anpage 4 Fig. 3 and 4.

7- Fefertopage S Fie. 5 #2 finng the farng comes pre-assembled wath faining bradzets #4 attached. The
position of each attached firing brackd nmay not be fizzed at the proper hetght for your particuar roof line,
Adjustments wall have to be made in order for the fainng to fonmn comrectly to your wehicle’ sroofline. Begmin
by attaching the finng’s center bracket to the i ddle slot #5a of the Gobi roof mcks light bar#5 shown on
page 5 Fig. 5 use the 47 bolts, washers and wang nuts supplied in bag #2.  Provide approcamatelya & @ap
hetween the fuinngand the Gobi rack outertubeas shown on page 5 Fig. 6a, tighten down the center tot and
holt at this time.  Proceed to etther the nght or 1eft hand side and gl the faring in the direction of the amrowes
on fage 5 Fig. 6 letters “F7 and “G7 wiile pushing down on the fainng towards the roof top at the same titme,
Full each side until the fainng either malkces contact with the Gobi moof racls or cotmes in close prosimity.
Align finng bracketz #4 to the Gobi light bar fainng slotzat the ends of the Gota light bar # and inzert the
L4 bolt and washer through the fairing bracket #4 then through the Gobi light bar slot and secure the finng in
place wath the 4" washer and wing mt. Proceed to the opposite side and continue attaching the fairing in the
same manner. Be sure that the fainng through out its length 15 malkang contact wath the roof top as snugas
possthle, fainng braclets may need to beadjusted either up or down and 10 sotne cases you tay hend the
fainng bracket to accommodate the final resalt.  Once the fainng 15 m the proper postion tghten all fanng
bracket screws finnly. Foofrack installation 12 conmplete.

Installation Instructions for GOBI TOVOTA FJ FULL SIZE RACK rarrwo. JTFIFSR SHEET 3§ oOF S




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK

INSTALLATION INSTRUCTIONS

= ¥
Fig. 2

Installation Instructions for GOBI TOVOTA FJ FULL SIZE RACK rarrwo. JTFIFSR SHEET 4 oF S




G OBI Intellizent Degigns 2000 Coxp.
G Denver, Colorado 80211
i wuw. GOBIRACKS.com

GENUINE ACCESSORIES

GOBITOYOTA FJ CRUISER FULL SIZE ROOF RACK
INSTALLATION INSTRUCTIONS

Installation Instructions for GOEI TOVOTA FIFULL SIZERACK |  rarawo. OTFIFGR SHEET § oOF &




	Gobi Toyota FJ Stealth rack instructions page 1.bmp
	Gobi Toyota FJ Stealth rack instructions page 2.bmp
	Gobi Toyota FJ Stealth rack instructions page 3.bmp
	Gobi Toyota FJ Stealth rack instructions page 4.bmp
	Gobi Toyota FJ Stealth racki nstructions page 5.bmp

